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General Instructions : 

 

1. This Question paper contains - five sections A,B,C,D and E. Each 

section is compulsory. However, there is some internal choice in some 

questions. 
2. Section A has 18 MCQ’s and 02 Assertion Reason based questions of 1 mark each. 

3. Section B has 5 Very Short Answer(VSA) questions of 2 marks each. 

4. Section C has 6 Short Answer(SA) questions of 3 marks each. 

5. Section D has 4 Long Answer(LA) questions of 5 marks each. 

6. Section E has 3 source based/case based/passage based/integrated 

units of assessment (04 marks each) with sub parts. 

7. Internal Choice is provided in 2 questions in Section-B, 2 questions in Section-C, 

2 Questions in Section-D. You have to attempt only one alternatives in all such 

questions. 

 

SECTION A 

(All Questions are compulsory. No internal choice is provided in this section) 

               
              Q-3 If 𝑥 ≤ 8 then, 

(a)  −𝑥 ≤ −8     (b) −𝑥 ≥ −8      (c) −𝑥 < −8           (d) −𝑥 > −8 

              Q-4  If |𝑥 − 2|≥ 7, 𝑥 ∈ 𝑅 , 𝑡ℎ𝑒𝑛 

                        (a) (-5 , 9]              (b)[-5 , 9]                (c)(-∞ , -5]∪ [9 , ∞)                  (d)(- ∞,-5)∪(9,∞) 

                

 



   

            

 

Q-6 If 𝑥 [
2
3

] + 𝑦 [
−1
1

] = [
10
5

] , then the value of x and y are :  

       (a) -4 , 3   (b) 3 ,-4   (c) 3, -3   (d) 4 , -4 

 

 

 Q-8 .If 𝐴 =[
2 𝑥 + 7

2𝑥 − 3 𝑥 + 8
]  is symmetric , then x is equal to  

        (a) 9   (b) 10   (c) 5   (d) 4

 

Q-10 If 𝐴 = [
2 −1 3
4 6 −6

] and [
1 2
3 4
5 −6

] , then 

(a) Only AB is defined     (b) only BA is defined 

(c)AB and BA are both defined    (d) AB and BA both are not defined 

Q-11 The function 𝑓(𝑥) = 𝑥3  

(a)decreasing on R       (b) increasing on R  

(c) Both (a) and (b)       (d) neither increasing nor decreasing 

Q-12 If Let A be a square matrix of order 2 × 2, then |KA| is equal to  

       (a) K|A|   (b) K²|A|   (c) K3|A|   (d) 2K|A| 

Q-13 If [
1 3 9
1 𝑥 𝑥2

4 6 9
] is singular matrix, then x = 

(a)3  (b) 3 0r 6   (c)3 or
3

2
   (d)-3 or−

3

2
 

Q-14 If A = [
2𝑥 0
𝑥 𝑥

] and 𝐴−1 = [
1 0

−1 2
] , then the value of x is: 

    (a)2  (b)−
1

2
    (c)1   (d) 

1

2
 



   

 

Q-16 If 𝑥 = 𝑎𝑡2 , 𝑦 = 2𝑎𝑡, 𝑡ℎ𝑒𝑛
𝑑2𝑦

𝑑𝑥2 = 

(a) −
𝟏

𝟐𝒂𝒕𝟑  (b) −
𝟏

𝟐𝒂𝒕𝟐  (c) 
𝟏

𝒕𝟐  (d)−
𝟐𝒂

𝒕
  

Q-17 The equation of the normal to the curve 𝑦 = 𝑥2 − 𝑥 at (1,0) is : 

        (a) 𝑥 + 𝑦 = 0   (b) 𝑥 − 𝑦 = 0   (c) 𝑥 + 𝑦 = 1   (d) 𝑥 − 𝑦 = 1 

Q-18 If the marginal revenue fnction of a commodity is MR =2𝑥 − 9𝑥2, then the revenue function is 

(a) 2𝑥2 − 9𝑥3           (b)2 − 18𝑥                     (c) 𝑥2 − 3𝑥3                   (d) 18 + 𝑥2 − 3𝑥3  

 

 

 

 

 

 



   

SECTION B 

(All Questions are compulsory. In case of internal Choice, attempt any one question only) 

    Q-21 Solve :5𝑥 − 7 < 3(𝑥 + 3), 1 −
3𝑥

2
≥ 𝑥 − 4 

 

    Q-25 Find the rate of change of volume of a sphere with respect to its surface area when 

             radius is 5m. 

 



   

 

Q-31 Find the number of pairs of consecutive even positive integers,both of which are larger  

          than 8 and their sum is less than 25. 

SECTION D 

(This section comprises of long answer type questions (LA) of 5 mark each) 

 

 

 



   

                

OR 

                        Find the value of k if M =[
1 2
2 3

] and 𝑀2 − 𝑘𝑀 − 𝐼2 = 0 

 

 

 

    Q-37 The marginal revenue of a product is given by 𝑀 = 7 − 4𝑋 + 3𝑥2, where x is the number    

             Of units produced and sold.Based on the above information answer the following: 

(a) Find the revenue function 

                     OR 

If at x=4 revenue generated id Rs 20 , then ffind the revenue function. 

(b) Find the demand function 

(c) Find the average revenue 



   

   Q-38  

 

 


